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[0 main() {long f1,f2. inti. f1=f2=1. for(i=1.i { printf("ld 1d",f1,f2).
if(1%2==0) printf("/n")./*0 0 00 0 00O O O */ f1=f1f2. /*0 O
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[ #include "math.h" main() { int m,i,k,h=0,leap=1. printf("/n").
for(m=101.m { k=sqrt(m 1). for(i=2.1 if(m%Ii==0) {leap=0.break.}
If(leap) {printf("%-4d",m).h . if(h==0) ?printf("/n"). } leap=L1. }
printf("/nThetotal is%d",h). } O 00130 D0 OO OO OO0
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' water flower’ number is:"). for(n=100.n {i=n/100./*0 U O O
O */j=n/10./*0 0 0 O O * k=n./*0 0O O O O */if(i*100 j*10



k==1*1*1 j*j*] kK*k*K) { printf("%-5d",n). } } printf("/n"). } O O O 14
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OO0O000000d /*zhengintisdivided yinshu*/ main() { int
n,i. printf("/nplease input a number:/n"). scanf("%d",amp.score).
grade=score>=90? A’ score>=60?” B : C’ ). printf("%d
belongs to %c",score,grade). } 100Test 1 U OO0 D OO OO0 OO
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